Nonlinear Functional Analysis and Applications Vol. 22, No. 1 (2017), pp. 107-120 ISSN: 1229-1595(print), 2466-0973(online)



http://nfaa.kyungnam.ac.kr/journal-nfaa Copyright \bigodot 2017 Kyungnam University Press

EXISTENCE OF NONOSCILLATORY SOLUTIONS TO FIRST ORDER NEUTRAL TYPE DIFFERENCE EQUATIONS WITH MIXED ARGUMENTS

S. Selvarangam¹, S. A. Rupadevi² and E. Thandapani³

¹Department of Mathematics, Presidency College (Autonomous) Chennai - 600 005, India e-mail: selvarangam.9962@gmail.com

²Department of Mathematics, Presidency College (Autonomous) Chennai - 600 005, India e-mail: rupalect@gmail.com

³Ramanujan Institute for Advanced Study in Mathematics University of Madras, Chennai - 600 005, India e-mail: ethandapani@yahoo.co.in

Abstract. In this paper, the authors present some sufficient conditions for the existence of nonoscillatory solutions to following first order neutral type difference equation

$$\Delta(x_n + a_n x_{n-l} + b_n x_{n+m}) + p_n x_{n-k} - q_n x_{n+r} = 0, \ n \ge n_0$$

having both delay and advanced terms via Banach contraction principle. Examples are provided to illustrate the results. The results obtained in this paper generalized some of the existing results.

1. INTRODUCTION

In this paper, we are concerned with the existence of nonoscillatory solutions of first order neutral type difference equation of the form

$$\Delta(x_n + a_n x_{n-l} + b_n x_{n+m}) + p_n x_{n-k} - q_n x_{n+r} = 0, \ n \ge n_0$$
(1.1)

where n_0 a nonnegative integer, subject to the following conditions: (H_1) { a_n } and { b_n } are real sequences;

⁰2010 Mathematics Subject Classification: 39A10.

⁰Received April 6, 2016. Revised July 20, 2016.

⁰Keywords: Neutral type difference equation, fixed point, nonoscillatory solutions.

- (H_2) $\{p_n\}$ and $\{q_n\}$ are non-negative real sequences;
- (H_3) l and m are positive integers and k and r are non-negative integers.

Let $\theta = \max\{l, k\}$. By a solution of equation (1.1), we mean a real sequence $\{x_n\}$ defined for all $n \ge n_0 - \theta$, and satisfying the equation (1.1) for all $n \ge n_0$. A nontrivial solution of equation (1.1) is said to be nonoscillatory if it is either eventually positive or eventually negative, and oscillatory otherwise.

Recently many authors investigated the existence of nonoscillatory solutions of first order neutral type difference equations, see for example [1, 2, 5], and the references cited therein. In [8, 13], the authors discussed the existence of nonoscillatory solutions for the equation

$$\Delta(x_n + px_{n-l}) + q_n x_{n-m} = 0, \ n \ge n_0,$$

when $p \ge 0$ or $p \le 0$. In [11], the authors investigated the existence of nonoscillatory solutions to the equation

$$\Delta(x_n + c_n x_{n-l}) + p_n x_{n-k} - q_n x_{n-m} = 0, \ n \ge n_0.$$

They established sufficient conditions for the existence of nonoscillatory solutions depending on the different ranges of $\{c_n\}$. In [8], existence of nonoscillatory solutions of first order neutral type difference equation of the form

$$\Delta(x_n - c_n x_{n-l}) = p_n x_{n-k}$$

was studied.

On the other hand, there has been great interest in studying the oscillatory behavior of first and higher order neutral type difference equations with delay and advanced terms, see for example [3, 4, 10, 12, 14], and the references cited therein.

Motivated by the above studies, in this paper we obtain sufficient conditions for the existence of nonoscillatory solutions for the equation (1.1). The results obtained in this paper generalize and complement to some of the known results in [8, 11, 13].

2. EXISTENCE OF NONOSCILLATORY SOLUTIONS

In this section, we present sufficient conditions for the existence of nonoscillatory solutions of equations (1.1) using Banach contraction principle. We begin with the following theorem.

Theorem 2.1. (Banach's Contraction Mapping Principle) A contraction mapping on a complete metric space has a unique fixed point.

Theorem 2.2. With respect to the difference equation (1.1), assume that $0 \le a_n \le a < 1$ and $0 \le b_n \le b \le 1 - a$ for all $n \ge n_0$. If

$$\sum_{n=n_0}^{\infty} p_n < \infty \quad and \quad \sum_{n=n_0}^{\infty} q_n < \infty, \tag{2.1}$$

then equation (1.1) has a bounded nonoscillatory solution.

Proof. Inview of condition (2.1), we may choose an integer $N > n_0$ so that

$$N \ge n_0 + \theta \tag{2.2}$$

sufficiently large such that

$$\sum_{s=n}^{\infty} p_s \leq \frac{M_2 - \alpha}{M_2} \quad \text{for all } n \geq N$$
(2.3)

and

$$\sum_{s=n}^{\infty} q_s \leq \frac{\alpha - (a+b)M_2 - M_1}{M_2} \quad \text{for all } n \geq N, \tag{2.4}$$

where M_1 and M_2 are positive constants such that

 $(a+b)M_2 + M_1 < M_2$ and $\alpha \in ((a+b)M_2 + M_1, M_2).$

Let B be the set of all bounded real sequences $\{x_n\}$ defined for all $n \ge n_0$ with supremum norm $||x|| = \sup_{n\ge n_0} |x_n|$. Then clearly B is a Banach space. Set

$$S = \{ x \in B : M_1 \le x_n \le M_2, n \ge n_0 \}.$$

It is clear that S is a bounded, closed, and convex subset of B. Define an operator $T: S \to B$ as follows:

$$(Tx)_n = \begin{cases} \alpha - a_n x_{n-l} - b_n x_{n+m} + \sum_{s=n}^{\infty} [p_s x_{s-k} - q_s x_{s+r}], & n \ge N, \\ (Tx)_N, & n_0 \le n \le N. \end{cases}$$

Clearly Tx is continuous. For $n \ge N$ and $x \in S$, we have

$$(Tx)_n \le \alpha + \sum_{s=n}^{\infty} p_s x_{s-k} \le \alpha + M_2 \sum_{s=n}^{\infty} p_s \le M_2$$

and

$$(Tx)_n \ge \alpha - a_n x_{n-l} - b_n x_{n+m} - \sum_{s=n}^{\infty} q_s x_{s+r}$$
$$\ge \alpha - aM_2 - bM_2 - M_2 \sum_{s=n}^{\infty} q_s \ge M_1,$$

where we have used (2.3) and (2.4). Thus $TS \subset S$.

Next, we show that T is a contraction mapping on S. Let $x, y \in S$ and $n \geq N$. Then

$$|(Tx)_n - (Ty)_n| \le a_n |x_{n-l} - y_{n-l}| + b_n |x_{n+m} - y_{n+m}| + \sum_{s=n}^{\infty} (p_s |x_{s-k} - y_{s-k}| + q_s |x_{s+r} - y_{s+r}|)$$

or

$$\begin{aligned} |(Tx)_n - (Ty)_n| &\leq ||x - y|| (a + b + \sum_{s=n}^{\infty} (p_s + q_s)) \\ &\leq \left(a + b + \frac{M_2 - \alpha}{M_2} + \frac{\alpha - (a + b)M_2 - M_1}{M_2}\right) ||x - y|| \\ &= \lambda_1 ||x - y||, \end{aligned}$$

where $\lambda_1 = (1 - \frac{M_1}{M_2})$. This implies that $||Tx - Ty|| \leq \lambda_1 ||x - y||$. Since $\lambda_1 < 1$, T is a contraction mapping on S. By Theorem 2.1, T has a unique fixed point which is a positive and bounded solution of equation (1.1). The proof is now completed.

Theorem 2.3. With respect to the difference equation (1.1), assume that $0 \le a_n \le a < 1$, and $a - 1 < b \le b_n \le 0$ for all $n \ge n_0$. If condition (2.1) holds, then equation (1.1) has a bounded nonoscillatory solution.

Proof. In view of condition (2.1), we can choose an integer $N > n_0$ sufficiently large satisfying (2.2) such that

$$\sum_{s=n}^{\infty} p_s \leq \frac{(1+a)M_4 - \alpha}{M_4} \quad \text{for all } n \geq N$$
(2.5)

and

$$\sum_{s=n}^{\infty} q_s \leq \frac{\alpha - aM_4 - M_3}{M_4} \quad \text{for all } n \geq N,$$
(2.6)

where M_3 and M_4 are positive constants such that

$$M_3 + aM_4 < (1+b)M_4$$
 and $\alpha \in (M_3 + aM_4, (1+b)M_4).$

Let B be the space as defined in Theorem 2.2. Set

$$S = \{ x \in B : M_3 \le x_n \le M_4, \ n \ge n_0 \}.$$

It is clear that S is a bounded, closed, and convex subset of S. Define an operator $T: S \to B$ as follows:

$$(Tx)_{n} = \begin{cases} \alpha - a_{n}x_{n-l} - b_{n}x_{n+m} + \sum_{s=n}^{\infty} [p_{s}x_{s-k} - q_{s}x_{s+r}], & n \ge N, \\ (Tx)_{N}, & n_{0} \le n \le N. \end{cases}$$

Clearly Tx is continuous. For $n \ge N$ and $x \in S$, we have from (2.5) and (2.6)

$$(Tx)_n \le \alpha - bM_4 + M_4 \sum_{s=n}^{\infty} p_s \le M_4,$$

and

$$(Tx)_n \ge \alpha - a_n M_4 - M_4 \sum_{s=n}^{\infty} q_s \ge M_3$$

This proves that $TS \subset S$. Next we show that T is a contraction mapping. Let $x, y \in S$ and $n \geq N$. Then

$$|(Tx)_n - (Ty)_n| \le ||x - y|| \left(a - b + \sum_{s=n}^{\infty} (p_s + q_s) \right)$$

 $\le \lambda_2 ||x - y||,$

where $\lambda_2 = (1 - \frac{M_3}{M_4})$. This implies that $||Tx - Ty|| \le \lambda_2 ||x - y||$. Since $\lambda_2 < 1$, T is a contraction mapping on S. Hence by Theorem 2.1, T has a unique fixed point which is a positive and bounded solution of equation (1.1). This completes the proof.

Theorem 2.4. With respect to the difference equation (1.1), assume that $1 < a \leq a_n \leq d < \infty$ and $0 \leq b_n \leq b < a - 1$ for all $n \geq n_0$. If condition (2.1) holds, then equation (1.1) has a bounded nonoscillatory solution.

Proof. In view of condition (2.1), one can choose an integer $N > n_0$ so that

$$N+l \ge n_0 + k,\tag{2.7}$$

sufficiently large such that

$$\sum_{s=n}^{\infty} p_s \le aM_6 - \alpha, \quad n \ge N, \tag{2.8}$$

and

$$\sum_{s=n}^{\infty} q_s \le \frac{\alpha - dM_5 - (1+b)M_6}{M_6}, \ n \ge N,$$
(2.9)

where M_5 and M_6 are positive constants such that

$$dM_5 + (1+b)M_6 < aM_6$$
 and $\alpha \in (dM_5 + (1+b)M_6, aM_6).$

Let B be the space as defined in Theorem 2.2. Set

$$S = \{ x \in B : M_5 \le x_n \le M_6, \ n \ge n_0 \}.$$

Obviously S is a bounded, closed, and convex subset of B. Define a mapping $T: S \to B$ as follows:

$$(Tx)_n = \begin{cases} \frac{1}{a_{n+l}} \bigg\{ \alpha - x_{n+l} - b_{n+l} x_{n+l+m} + \sum_{s=n+l}^{\infty} [p_s x_{s-k} - q_s x_{s+r}] \bigg\}, & n \ge N, \\ (Tx)_N, & n_0 \le n \le N. \end{cases}$$

Clearly, Tx is continuous. For $n \ge N$ and $x \in S$, we have from (2.8) and (2.9), respectively, that

$$(Tx)_n \le \frac{1}{a_{n+l}} \left(\alpha + M_6 \sum_{s=n}^{\infty} p_s \right) \le \frac{1}{a} \left(\alpha + M_6 \sum_{s=n}^{\infty} p_s \right) \le M_6$$

and

$$(Tx)_n \ge \frac{1}{a_{n+l}} \left(\alpha - (1+b)M_6 - M_6 \sum_{s=n}^{\infty} q_s \right)$$
$$\ge \frac{1}{d} \left(\alpha - (1+b)M_6 - M_6 \sum_{s=n}^{\infty} q_s \right) \ge M_5$$

Thus $TS \subset S$. Next we show that T is a contraction mapping on S. If $x, y \in S$, and $n \geq N$, then

$$|(Tx)_n - (Ty)_n| \le \frac{1}{a} ||x - y|| \left(1 + b + \sum_{s=n}^{\infty} [p_s + q_s] \right)$$

$$\le \lambda_3 ||x - y||,$$

where $\lambda_3 = (1 - \frac{dM_5}{M_6})$. This implies that $||Tx - Ty|| \le \lambda_3 ||x - y||$. Since $\lambda_3 < 1$, T is a contraction mapping on S. Therefore, by Theorem 2.1, T has a unique fixed point which is a positive and bounded solution of equation (1.1). The proof is now completed.

Theorem 2.5. With respect to the difference equation (1.1), assume that $1 < a \leq a_n \leq d < \infty$ and $1 - a < b \leq b_n \leq 0$ for all $n \geq n_0$. If condition (2.1) holds then equation (1.1) has a bounded nonoscillatory solution.

Proof. In view of condition (2.1), one can choose an integer $N > n_0$ sufficiently large satisfying (2.7) such that

$$\sum_{s=n}^{\infty} p_s \leq \frac{(a+b)M_8 - \alpha}{M_8}, \ n \ge N$$
 (2.10)

and

$$\sum_{s=n}^{\infty} q_s \leq \frac{\alpha - dM_7 - M_8}{M_8}, \ n \ge N,$$
 (2.11)

where M_7 and M_8 are positive constants such that

$$dM_7 + M_8 < (a+b)M_8$$
, and $\alpha \in (dM_7 + M_8, (a+b)M_8)$.

Let B be the space as defined in Theorem 2.2. Set

$$S = \{ x \in B : M_7 \le x_n \le M_8, \ n \ge n_0 \}.$$

Clearly S is a bounded, closed and convex subset of B. Define a mapping $T: S \to B$ as follows:

$$(Tx)_n = \begin{cases} \frac{1}{a_{n+l}} \left\{ \alpha - x_{n+l} - b_{n+l} x_{n+l+m} + \sum_{s=n+l}^{\infty} (p_s x_{s-k} - q_s x_{s+r}) \right\}, & n \ge N, \\ (Tx)_N, & n_0 \le n \le N. \end{cases}$$

It is clearly that Tx is continuous. For $n \ge N$ and $x \in S$, we have from (2.10), and (2.11), respectively that

$$(Tx)_n \le \frac{1}{a} \left(\alpha - bM_8 + M_8 \sum_{s=n}^{\infty} p_s \right) \le M_8$$

and

$$(Tx)_n \ge \frac{1}{d} \left(\alpha - M_8 - M_8 \sum_{s=n}^{\infty} q_s \right) \ge M_7.$$

This implies that $TS \subset S$. Further if $x, y \in S$ and $n \ge N$, then

$$|(Tx)_n - (Ty)_n| \le \frac{1}{a} ||x - y|| \left(1 - b + \sum_{s=n}^{\infty} (p_s + q_s) \right)$$
$$= \lambda_4 ||x - y||,$$

where $\lambda_4 = (1 - \frac{dM_7}{M_8})$. This implies that $||Tx - Ty|| \le \lambda_4 ||x - y||$. Since $\lambda_4 < 1$, T is a contraction mapping on S. By Theorem 2.1, T has a unique fixed point which is a positive and bounded solution of equation (1.1). This completes the proof.

Theorem 2.6. With respect to the difference equation (1.1), assume that $-1 < a \le a_n \le 0$ and $0 \le b_n \le b \le 1 + a$ for all $n \ge n_0$. If condition (2.1) holds, then equation (1.1) has a bounded nonoscillatory solution.

Proof. In view of condition (2.1), one can choose an integer $N > n_0$ sufficiently large satisfying (2.2) such that

$$\sum_{s=n}^{\infty} p_s \leq \frac{(1+a)M_{10} - \alpha}{M_{10}}, \ n \geq N$$
(2.12)

and

$$\sum_{s=n}^{\infty} q_s \leq \frac{\alpha - bM_{10} - M_9}{M_{10}}, \ n \ge N,$$
(2.13)

where M_9 and M_{10} are positive constants such that

$$M_9 + bM_{10} < (a+b)M_{10}$$
 and $\alpha \in (M_9 + bM_{10}, (1+a)M_{10}).$

Let B be the space as defined in Theorem 2.1. Set

 $S = \{ x \in B : M_9 \le x_n \le M_{10}, \ n \ge n_0 \}.$

Clearly S is a bounded, closed and convex subset of B. Define a mapping $T: S \to B$ as follows:

$$(Tx)_n = \begin{cases} \alpha - a_n x_{n-l} - b_n x_{n+m} + \sum_{s=n}^{\infty} (p_s x_{s-k} - q_s x_{s+r}), & n \ge N, \\ (Tx)_N, & n_0 \le n \le N. \end{cases}$$

Obviously, Tx is continuous. For $n \ge N$ and $x \in S$, from (2.12) and (2.13), it follows that

$$(Tx)_n \le \alpha - aM_{10} + M_{10} \sum_{s=n}^{\infty} p_s \le M_{10}$$

and

$$(Tx)_n \ge \alpha - bM_{10} - M_{10} \sum_{s=n}^{\infty} q_s \ge M_9$$

Thus, $TS \subset S$. Next we show that T is a contraction mapping on S. If $x, y \in S$, and $n \geq N$, then

$$|(Tx)_n - (Ty)_n| \le ||x - y|| \left(-a + b + \sum_{s=n}^{\infty} (p_s + q_s) \right)$$

= $\lambda_5 ||x - y||$

where $\lambda_5 = (1 - \frac{M_9}{M_{10}})$. This implies that $||Tx - Ty|| \le \lambda_5 ||x - y||$. Since $\lambda_5 < 1$, T is a contraction mapping on S. By Theorem 2.1, T has a unique fixed point

which is a positive and bounded solution of equation (1.1). The proof is now completed. $\hfill \Box$

Theorem 2.7. With respect to the difference equation (1.1), assume that $-1 < a \le a_n \le 0$ and $-1 - a < b \le b_n \le 0$ for all $n \ge n_0$. If condition (2.1) holds, then equation (1.1) has a bounded nonoscillatory solution.

Proof. In view of condition (2.1), one can choose an integer $N > n_0$ sufficiently large satisfying (2.2) such that

$$\sum_{s=n}^{\infty} p_s \leq \frac{(1+a+b)M_{12}-\alpha}{M_{12}}, \ n \geq N$$
(2.14)

and

$$\sum_{s=n}^{\infty} q_s \leq \frac{\alpha - M_{11}}{M_{12}}, \ n \ge N,$$
(2.15)

where M_{11} and M_{12} are positive constants such that

~~

$$M_{11} < (1+a+b)M_{12}$$
 and $\alpha \in (M_{11}, (1+a+b)M_{12})$

Let B be the space as defined in Theorem 2.2. Set

$$S = \{ x \in B : M_{11} \le x_n \le M_{12}, \ n \ge n_0 \}.$$

It is clear that S is a bounded, closed and convex subset of B. Define an operator $T: S \to B$ as follows:

$$(Tx)_n = \begin{cases} \alpha - a_n x_{n-l} - b_n x_{n+m} + \sum_{s=n}^{\infty} (p_s x_{s-k} - q_s x_{s+r}), & n \ge N, \\ (Tx)_N, & n_0 \le n \le N. \end{cases}$$

Clearly Tx is continuous. For $n \ge N$ and $x \in S$, from (2.14) and (2.15), it follows that

$$(Tx)_n \le \alpha - aM_{12} - bM_{12} + M_{12} \sum_{s=n}^{\infty} p_s \le M_{12}$$

and

$$(Tx)_n \ge \alpha - M_{12} \sum_{s=n}^{\infty} q_s \ge M_{11}.$$

This implies that $TS \subset S$. If $x, y \in S$ and $n \ge N$, then we have

$$|(Tx)_n - (Ty)_n| \le ||x - y|| \left(-a - b + \sum_{s=n}^{\infty} (p_s + q_s) \right)$$

= $\lambda_6 ||x - y||,$

where $\lambda_6 = (1 - \frac{M_{11}}{M_{12}})$. This implies that $||Tx - Ty|| \le \lambda_6 ||x - y||$. Since $\lambda_6 < 1$, T is a contraction mapping on S. By Theorem 2.1, T has a unique fixed point which is a positive and bounded solution of equation (1.1). This completes the proof.

Theorem 2.8. With respect to the difference equation (1.1), assume that $-\infty < d \le a_n \le a < -1$ and $0 \le b_n \le b < -a - 1$ for all $n \ge n_0$. If condition (2.1) holds, then equation (1.1) has a bounded nonoscillatory solution.

Proof. In view of condition (2.1), one can choose an integer $N > n_0$ sufficiently large satisfying (2.7) such that

$$\sum_{s=n}^{\infty} p_s \leq \frac{dM_{13} + \alpha}{M_{14}}, \ n \ge N$$
(2.16)

and

$$\sum_{s=n}^{\infty} q_s \leq \frac{(-a-1-b)M_{14}-\alpha}{M_{14}}, \ n \ge N,$$
(2.17)

where M_{13} and M_{14} are positive constants such that

$$-dM_{13} < (-a - 1 - b)M_{14}$$
, and $\alpha \in (-dM_{13}, (-a - 1 - b)M_{14}).$

Let B be the space as defined in Theorem 2.2. Set

$$S = \{ x \in B : M_{13} \le x_n \le M_{14}, \ n \ge n_0 \}.$$

Clearly S is a bounded, closed and convex subset of B. Define a mapping $T: S \to B$ as follows:

$$(Tx)_n = \begin{cases} -\frac{1}{a_{n+l}} \{\alpha + x_{n+l} + b_{n+l}x_{n+l+m} - \sum_{s=n+l}^{\infty} (p_s x_{n-k} - q_s x_{s+r})\}, & n \ge N, \\ (Tx)_N, & n_0 \le n \le N. \end{cases}$$

Clearly Tx is continuous. For $n \ge N$ and $x \in S$, from (2.16) and (2.17), that

$$(Tx)_n \le -\frac{1}{a} \left(\alpha + M_{14} + bM_{14} + M_{14} \sum_{s=n}^{\infty} p_s \right) \le M_{14}$$

and

$$(Tx)_n \ge -\frac{1}{d} \left(\alpha - M_{14} \sum_{s=n}^{\infty} q_s \right) \ge M_{13}.$$

Thus $TS \subset S$. If $x, y \in S$ and $n \ge N$, then we have

$$|(Tx)_n - (Ty)_n| \le -\frac{1}{a} ||x - y|| \left(1 + b + \sum_{s=n}^{\infty} (p_s + q_s)\right)$$
$$= \lambda_7 ||x - y||,$$

where $\lambda_7 = (1 - \frac{M_{13}}{M_{14}})$. This implies that $||Tx - Ty|| \leq \lambda_7 ||x - y||$. Since $\lambda_7 < 1$, T is a contraction mapping on S. By Theorem 2.1, T has a unique fixed point which is a positive and bounded solution of equation (1.1). This completes the proof.

Theorem 2.9. With respect to the difference equation (1.1), assume that $-\infty < d \le a_n \le a < -1$ and $a + 1 < b \le b_n \le 0$ for all $n \ge n_0$. If condition (2.1) holds, then equation (1.1) has a bounded nonoscillatory solution.

Proof. In view of condition (2.1), one can choose an integer $N > n_0$ sufficiently large satisfying (2.7) such that

$$\sum_{s=n}^{\infty} p_s \leq \frac{dM_{15} + bM_{16} + \alpha}{M_{16}}, \ n \ge N$$
(2.18)

and

$$\sum_{s=n}^{\infty} q_s \leq \frac{(-a-1)M_{16} - \alpha}{M_{16}}, \ n \ge N,$$
(2.19)

where M_{15} and M_{16} are positive constants such that

$$-dM_{15} - bM_{16} < (-a-1)M_{16}$$
 and $\alpha \in (-dM_{15} - bM_{16}, (-a-1)M_{16}).$

Let B be the space as defined in Theorem 2.2. Set

$$S = \{ x \in B : M_{15} \le x_n \le M_{16}, \ n \ge n_0 \}.$$

It is clear that S is a bounded, closed and convex subset of B. Define a mapping $T: S \to B$ as follows:

$$(Tx)_n = \begin{cases} -\frac{1}{a_{n+l}} \Big\{ \alpha + x_{n+l} + b_{n+l} x_{n+l+m} - \sum_{s=n+l}^{\infty} (p_s x_{n-k} - q_s x_{s+r}) \Big\}, & n \ge N, \\ (Tx)_N, & n_0 \le n \le N. \end{cases}$$

Clearly Tx is continuous. For $n \ge N$ and $x \in S$, we have from (2.18) and (2.19) that

$$(Tx)_n \le -\frac{1}{a} \left(\alpha + M_{16} + M_{16} \sum_{s=n}^{\infty} p_s \right) \le M_{16}$$

and

$$(Tx)_n \ge -\frac{1}{d} \left(\alpha + bM_{16} - M_{16} \sum_{s=n}^{\infty} q_s \right) \ge M_{15}.$$

This implies that $TS \subset S$. If $x, y \in S$ and $n \geq N$, then

$$|(Tx)_n - (Ty)_n| \le -\frac{1}{a} ||x - y|| \left(1 - b + \sum_{s=n}^{\infty} (p_s + q_s)\right)$$

= $\lambda_8 ||x - y||,$

where $\lambda_8 = (1 - \frac{dM_{15}}{M_{16}})$. This implies that $||Tx - Ty|| \le \lambda_8 ||x - y||$. Since $\lambda_8 < 1$, T is a contraction mapping on S. By Theorem 2.1, T has a unique fixed point which is a positive and bounded solution of equation (1.1). This completes the proof.

3. Examples

In this section, we present some examples to illustrate the main results.

Example 3.1. Consider the neutral difference equation of the form

$$\Delta \left(x_n + \frac{1}{2} x_{n-1} + \frac{1}{3} x_{n+2} \right) + \left(\frac{4(n-1)}{3n(n+2)(n+3)} + \frac{3n-1}{2n^2(n+1)} \right) x_{n-1} + \frac{1}{(n+3)^2} x_{n+2} = 0, \quad n \ge 1.$$
(3.1)

Here $a_n = \frac{1}{2}$, $b_n = \frac{1}{3}$, $p_n = \frac{4(n-1)}{3n(n+2)(n+3)} + \frac{3n-1}{2n^2(n+1)}$, $q_n = \frac{1}{(n+3)^2}$. One can easily verify that all conditions of Theorem 2.2 are satisfied, and hence equation (3.1) has a bounded nonoscillatory solution. In fact $\{x_n\} = \{\frac{n+1}{n}\}$ is one such solution of equation (3.1).

Example 3.2. Consider a neutral difference equation of the form

$$\Delta\left(x_n + \frac{1}{4}x_{n-3} - \left(\frac{3}{4} - \frac{1}{4^n}\right)x_{n+1}\right) + \frac{1}{4^n}x_{n-1} - \frac{1}{4^{n+1}}x_{n+2} = 0, \quad n \ge 1.$$
(3.2)

Here $a_n = \frac{1}{4}$, $b_n = -(\frac{3}{4} - \frac{1}{4^n})$, $p_n = \frac{1}{4^n}$, $q_n = \frac{1}{4^{n+1}}$. A straight forward verification shows that all conditions of Theorem 2.3 are satisfied, and hence equation (3.2) has a bounded nonoscillatory solution. In fact $\{x_n\} = \{2 + (-1)^n\}$ is one such solution of equation (3.2).

Example 3.3. Consider the neutral difference equation of the form

$$\Delta \left(x_n - \frac{1}{2} x_{n-1} + \frac{1}{4} x_{n+1} \right) + \frac{1}{2(n-1)(n+1)} x_{n-1} - \frac{(5n+13)}{4(n+1)^2(n+3)} x_{n+1} = 0, \quad n \ge 2.$$
(3.3)

Here $a_n = \frac{-1}{2}$, $b_n = \frac{1}{4}$, $p_n = \frac{1}{2(n-1)(n+1)}$, $q_n = \frac{(5n+13)}{4(n+1)^2(n+3)}$. It is easy to verify that all conditions of Theorem 2.6 are valid. We note that $\{x_n\} = \{\frac{n}{n+1}\}$ is a bounded nonoscillatory solution of equation (3.3).

Example 3.4. Consider a neutral difference equation of the form

$$\Delta\left(x_n - \frac{1}{2}\left(\frac{3}{4} - \frac{1}{2^n}\right)x_{n-2} - \frac{1}{4}x_{n+2}\right) + \frac{1}{2^n}x_{n-1} - \frac{1}{2^n}x_{n+1} = 0, \quad n \ge 1.$$
(3.4)

Here $a_n = -\frac{1}{2}(\frac{3}{4} - \frac{1}{2^n})$, $b_n = \frac{-1}{4}$, $p_n = q_n = \frac{1}{2^n}$. It is easy to verify that all conditions of Theorem 2.7 are satisfied. In fact $\{x_n\} = \{1 + \frac{1}{2^n}\}$ is a bounded nonoscillatory solution of equation (3.4).

Example 3.5. Consider a neutral difference equation of the form

$$\Delta \left(x_n - 4x_{n-1} - 2x_{n+1} \right) + \frac{1}{2^n (2+2^n)} x_{n-1} - \frac{4}{2^n} x_{n+2} = 0, \quad n \ge 1.$$
 (3.5)

Here $a_n = -4$, $b_n = -2$, $p_n = \frac{1}{2^n(2+2^n)}$ and $q_n = \frac{4}{2^n}$. One can easily verify that all conditions of Theorem 2.9 are valid. Hence equation (3.5) has a bounded nonoscillatory solution. In fact $\{x_n\} = \{1+\frac{1}{2^n}\}$ is one such solution of equation (3.5).

Acknowledgments: The author E. Thandapani thanks the University Grants Commission of India for awarding Emeritus Fellowship(No.F.6-6/2013-14/EME RITUS-2013-14-GEN-2747) to carry out this research.

References

- R.P. Agarwal, Difference Equations and Inequalities, Theory, Methods and Applications, Second Edition, Marcel Dekker, NewYork, 2000.
- [2] R.P. Agarwal, M. Bohner, S.R. Grace and D.O. Regan, Discrete Oscillation Theory, Hindawi Publ. Corp., New York, 2005.
- [3] R.P. Agarwal and S.R. Grace, The oscillation of higher-order nonlinear difference equations of neutral type, Appl. Math. Lett., 12 (1999), 77–83.
- [4] R.P. Agarwal, E. Thandapani and P.J.Y. Wong, Oscillations of higher-order neutral difference equations, Appl. Math. Lett., 10 (1997), 71–78.

- [5] R. Arul, K. Alagesan and G. Ayyapan, Existence of nonoscillatory solutions of first order nonlinear neutral difference equations, J. Adv. Math., 11(5) (2015), 5229–5237.
- [6] M.P. Chen and B.G. Zhang, The existence of the bounded positive solutions of delay difference equations, Panamer. Math. J., 3 (1993), 79–94.
- [7] D.A. Gedrgion, E.A. Grove and G. Ladas, Oscillations of neutral difference equations, Appl. Anal., 33(34) (1989), 243–253.
- [8] B.S. Lalli and B.G. Zhang, On existence of positive solutions and bounded oscillations for neutral difference equations, J. Math. Anal. Appl., 166 (1992), 272–287.
- [9] B.S. Lalli, B.G. Zhang and L.J. Zha, On oscillations and existence of positive solutions of neutral difference equations, J. Math. Anal. Appl., 158 (1991), 213–233.
- [10] Q. Li, H. Liang, W. Darg and Z. Zhang, Existence of nonoscillatory solutions of higher order difference equations with positive and negative coefficients, Bull. Korean Math. Soc., 45 (2008), 23–31.
- [11] R. Rath, L.N. Pandy and N. Mishra, Oscillation and nonoscillation of neutral difference equations of first order with positive and negative coefficients, Fasc. Math., 37 (2007), 57–65.
- [12] E. Thandapani and K. Mahalingam, Existence of nonoscillatory solution of second order difference equations of neutral type, Indian J. Pure Appl. Math., 33 (2002), 625–633.
- [13] J.S. Yu and Z.C. Wang, Asymptotic behavior and oscillation in neutral delay difference equation, Funk. Ekvac., 37 (1994), 241–248.
- [14] Y. Zhou and Y.Q. Huang, Existence for nonoscillatory solutions of higher-order nonlinear neutral difference equations, J. Math. Anal. Appl., 280 (2003), 63–76.